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Instruction : First 15 minutes are allotted for
the candidates to rtead tLhe

qucstion paper.
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Note : 1) Allquestons arc compulsory.

i) Ilustrate  your answers  with
labelled diagrams wherever

necessary

iil) Marks allotted to each question
are given against it.
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Choose the correct option and w
1-

your answer-book

a) Genetics is a branch of Biology,

which deals with the study of

ijj heredity and variations

ii) heredity and mutation

iii) similarities and dissimilarities
iv) evolution and conservation. 1

B) Who proposed 'Big Bang Hypothesis'

related with origin of universe ?
i) Kant and Laplace

i) Stanley Miller

iii) A.L Oparin

iv) Abbe Lemaitre. 1

934571

Scanne d with CamScanner



T TS RS

376(GO)

C) DBt cotton is a
) Cloned plant
ii) Transgenic plant
i) Hybnd plant
ijv) Mutated plant. 1

D) Which of the following is state bird

of Uttar Pradesh 7
1) Peacock .

i) Parrot

iii)y Sparrow

iv) Sarus crane. 1
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inant and recessive
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2 Name any
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3. Mention the gcnutypic and phenotypic

e domnance and

1.1
2 t3

ratio in incomplet

co-dominance.
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4. Who gave naturalistic theory of origin of

life ? Give the name of his book with

year of publication. %.,.%
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5. Where are T and B lymphocyTes fm;mtl
_— 4
and matured ? 3 T2

OR

Differentiate between active and passive
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6. What are the full forms of WWF and

41
IUCN 2 3+

CR

Write a short note on Red Data Book. 1
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ex situ conservation of wild an
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India ? o
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g, Differentuiate between sex-inﬂuenr:ed and

. +
sex-limited traits 1 humarn. 1+1
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12.
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Which insect transmits the malan

parasitec ? Comment upon diﬁeren: t}rpﬂls
of malaria. ] + 1 7
OR
2

Comment upon alcoholism.

o EE b w9 d gl W e

LuEd 2
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Give an account on microbes as

e

biofertilizers. 2
OR

Describe the role of animal husbandry in

human welfare. 2
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‘herapy *
14. What do you mean by 8¢€1€ therap

combined JMMmuno-

1 +1

How IS seyvere

deficiency (SCID) diseast treated ?
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15. Define organic evolution. Discuss any
two evidences in favour of organic
cvolution in detail. 1+2+2

OR
Comment upon any two of the following :
1) Wallace chart
1) Natural selection
ut) Modern man. 2% +23
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initiation and

, Ztourollo 397 &

16, Discuss the role of RNA,

termination codons in protein synthesis.

2+13 +13

OR

What is DNA ? Descnbe double helical

structure of DNA molecule. 1 +4
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